KQ2 series

| EBRREE: AMRY @EEF MR Rc

107

SMERSE
I
ANAFLEBEE | KQ2S(2 5% )
3 . - % £ m?2
A ﬁﬁgﬁ BEEE m oy TR PR Y ﬁmﬁzgm ?Efﬂé Ha oD, ERFEEY
” I 918 mm i) RRE | g || O
L 22 | M3X05|KQ2802-M3G | 1.5 | 55[157|14.7[13.1[11.9] — |09 [15 | 1.7
£ 3.2 | M3X05|KQ2S23-M3G | 1.5 | 7 |17.1]16.1[145]133[ 14 | 1.4 [15 | 22
“ | M5x0.8 | KQ2S23-M5[] | 2 7 |175]16.3|145(133|25 [ 25 |2 |26
M3X0.5 | KQ2S04-M3G | 1.5 | 8 [17.1]16.1[145]13.3[ 14 | 1.4 [ 15| 23
24 |M5X0.8|KQ2S04-M50] | 2.5 | 8 [18.6/17.8(156[133[4 |4 [25 |3
M6X 1.0 | KQ2S04-M6[] | 3 8 |185/17.8|145(133|4 |4 |31 |41
o6 |M6X08|KQ2S06-M5] | 25 [10 [19.5]17.8|165]133|4 [4 |25 |35
M6X1.0 | KQ2S06-M6] |3 [10 [19.1[18.1]151[133[4 |4 [3.1 |51
[JEca: / A58 ~ N S8R+ B EARER i) oDRAZRAR
AN BFLE@BEEE | KQ2S( &% )
3 - 3
1 iﬁgﬁ @%ﬁ Eizh ;éﬂﬁ gﬁ L1 | L2 | A% | M AT ;Ef’fg H&
[ ' IME mm Ml @ R | e | TV 9
. 24 1/8 | KQ2S04-01C1S 3| 98[19.7[188]16.6[13.3| 41[ 36| 3.1] 8.1
= - 1/8 | KQ2S06-01CJS 4|10 |20 |18.8(16.9/13.3| 10 | 99| 41| 65 oD  EAREY
1/4 | KQ2S06-02(1S 4 113.8/19.8/18.8[15.1|13.3| 107[10 | 4.1|134 4
1/8 | KQ2S08-011S 513 [229[19.7]19.8[14.2| 172[16.2] 5.1[10.2 :
28 1/4 | KQ2S08-02(S 6 |14 [23.2[19.5]18.5[14.2| 233[16.2| 6.1][14.3
3/8 | KQ2S08-03CJS 6 |17 [207[19.7]156[14.2| 233[16.2] 6.1[21.1 <
1/8 | KQ2810-01CJS 5 15.6[24.3|21.1]21.2| 156 172][16.2| 51|12
o10 |14 |KQ2810-0218 8 [ 15.6/24.6(20.1/19.9(15.6| 39 [26.6| 8.1[124
3/8 | KQ2510-030JS 8 [17 [251[20.1/20 [156] 39 [26.6] 8.1[23.2 e
1/2_ | KQ2810-04(]S 8 |22 |21.1[20.1]14.7|15.6]| 39 |[26.6| 8.1|37.4 (REEE)
1/4 | KQ2812-02(]S 8 [18.2(29 [21.5[24.3[17 | 46 [445] 81|21
212 | 3/8 |KQ2S12-030JS | 10 [18.2[26.4[21.8|21.3[17 | 60 [44.5/10.1]21.2
1/2 |KQ2812-040JS | 10 |22 [22.8|21.8(16.4|17 | 60 |44.5(10.1|30.5
1/4 | KQ2516-02(JS 8 |23.6[325(25.1[27.8(20.6| 46 |46 | 8.1[257
216 | 3/8 |KQ2S16-030JS | 10 [23.6]33.5/25.4|28.4[20.6| 81 |67 [10.1]38.3
1/2 |KQ2816-040JS | 12 |23.6]33.4|26.1|27 |20.6] 113 |67 [12.1|43.5
[JECS: / A58 ~ N8R+ BB MRIZZFHRERAIBERS
i) oDRBEAR





